
why can’t we skip reading tonight?

Student A reads 20 minutes 
each day.  This equals 3600 

minutes a school year. 
Student A will read 

approximately 1,800,000 
words.

Student B reads 5 minutes 
each day. This equals 900 
minutes in a school year. 

Student B will read 
approximately 282,000 words.

Student C reads 1 minute each 
day.  This equals 180 minutes 
a school year. Student C will 

read approximately 8,000 
words.

By the end of the school year, Student A will have read the equivalent of 60 school days. Student B 
will have read only 12 school days.  Which student do you expect to be the better reader? 
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